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goiEar & fera T : Instructions for the candidaies :

b A '???'&naﬁ OMR Iy YAF UGY SO+T 1. Candidates must enier his / her

oy Em-:' H i (10 C“?fﬁi W) . Question Booklet Serial No.
sEvg e ) ; ' {1G Digits) in the CHR Answer
'  Sheet,

L

n La g — b el hig 3. . , - -
2. WETET FEgHe A VEET YOE Zandidates are required to give their
. I & answers in their own words as far

as practicable.

3. FIEA SR o!f-".?f gy fa "-r‘T & YiiF 3. Ficures in the right hand margin

!%E"’?’ E.-n'r.f 5 ] indicate fuil marks.
4. H¥EI @l HiH .?7""9"" :'-;-';{ ¢ Il 4. 15 miniies of extra time have been
15 =z &7 *r.‘rm Freeroa oy alloited for the candidates to read

the questions carefully.

5. gg H¥H9E |7 EUS & — Fug-3l g 5. This question booklet is divided into
[EEERGR) two secltions — Section-4 and
Szeticn-i,
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of which only one is correct. Amwerany
e OMR-Sheet. 50x1=3

Question Nos. 1 to 100 have four options, =
ion on th
50 guestions. You have to mark your selected option

. Lium
V2
(A) AlEa = (B)
(C) 3R = (D) FH § Pz Tl
L is a
(A) Natural number (B) Rational number
(C) Irrational number (D) none of these

]

9% o 9 B 4| RIS p(x)=x2+2x+3 Nia2ED ﬁTI a1 B a,-rqmm

(A) 3 (B) 2
€ 2 D) -3
If « and B are the zeros of a quadr
value of aff will be

(A) 3

(C) 2

— e

(L-2)110A m]

atic poly :
Polynomial p(x) = 2 2x + 3, then the
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TS 4x2 +5/2x -3 T YTH BAHE ? | |

W -32.42 @ -l
(C) ‘_Eg@,{g _ (D) = W w0

What are the zeros of the polynomial 4x~ + 5/2x-3?

(&) -342,42 B -3
(C) ;%*@.% (D)  None of these

(A) 690 (B) ©60%

o

(C) 669 ‘ o) 90

If the product of two numbers is 15870 and their HCF is 23, then their L |

will be
(A) 690 ' B) 809
(C) 669 (D) 905

aE a=(22x3%x5%) AR b=(23x32x5), 7€ TeFo {a, )T

(A 90 . B 180

PPt =T=4a - (Dl __540 .
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Prefiafian & § o moe 6 3 2

@) Zxs1 B 2-x*+/3x
© D) © x°

(A) %x+1 B) 2-x2+43x
1
(C) T (D) K

SHIEHTTT 13T e+ 2y — 8 = 0 69T 25 + 4y =16 A

allte

-~ A

—

(C) =I5 & &l (D) T ¥ =E

The system of equations x + 2y-8=0and 2x + 4y = 16 have
(A) unique solution (B)  infinitely many solutions

(C) no solutien (D) none of these

aﬁﬁﬁn@mﬁq@qa#rmﬁan#Mm4qéTmma1%Jﬁa§ﬁmﬁayﬁﬁm

(A) x%+4x+4 B)  x2-4x41
(C) x*-x+4 D) x%+4x+1

If the sum of the zeros of a quadratic polynomial is 4 and their product is 1

then that quadratic polynomial is
(A) x2+dx+4 (B) x? = dx+1

(C) x*-x+4 (D)  x%+dx+l
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9. ' . |

’ A FHloT g 4x+@+3=oqa‘2x+2y+2=oﬁwaﬁﬁmﬁﬁﬂ\
A) k=4 B) k=4
(C) k-,=—4_ , (D) ﬁﬁ?‘aﬁé:’ﬁ

If the System of equations 4x+ky+8=0 and 2x-+ 2y+2=0 have an uniqu

soluﬁon, then
A k=4 B) k=4

C)  k=-4 (D)  None of these

10. TfafeEa 5 s o afexo & 2

(A) x*-3Jx+2=0 (B x+—=x2
(€) x2+%=5 ' D) 2x%-5x=(x-1)
2

Which of the following is a quadratic equation ?

. 1 5 L]

(A) x> -3/x+2=0 B) x+—=x’
2,1 2x? —5x=(x -1)?

(C) x T-;z--s (D) X (x-1)

11. A% TEET ax? +bx+c=0 % T U SR o ogeed o, df

a=b B) b=c ‘

(D) Eﬂﬁ@'&ﬁéqﬁ
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- . i . ¥ I - f L
If the roots of the equation ax” +bx+c=0 are reciprocal of each other, they, -

(A)  a=b B) b=c
(C) c=a (D)° Nome of these .
12.  fEEd GHIT0T. x2 — 6x+2= 0 & el & AT &

(a) 2 B) -2
€ 6 (D)
The sum of the roots of quadratic equation x> —6x+2=0 is
Ay 2 B -2

€ s : D) -6

13.  x= 6l 3N Sl G @ & 2

(A)  x-3& F FHE T (B) 3T % OEIE
(C) =% 5= ¥ Tl &% (D) &9 | =% &

What type of straight line will the graph of x= 6 be ?
(A) Parallel to x-axis (B) Parallel to y-axis

(C) Passing through the origin (D) None of these

14 Frfefad 3 § FH-a1 Fremw o R gy 2

@ (2.0)° - B (0,2
& {%2) O AT G
M- T10A [FnnTaa] A—
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15.

16.

17. '

~ Which of the following are the co-ordinates of a point on x-axis ?

() (2,0) B (0,2)
€ (2,2) (D) None of these

£

Ifx fFEt AP, T W99 UT o U 9iE 3 4 &, °f 3§ A.P. S ndl 9 &M

A) a+(n-2)d ' B) a+(n-1)d
(C) * a+ nd _ D) a-(n-1)d

If a is the first term and d is the common difference of an A.P., then nth terr

" the A.P. will be
(A) a+(n-2)d B) a+(n-1)d
(C) a+nd D) a-(n-1)d

>

e A9 10, 7,4, ... T30 A UG ©

(A) 75 By -77
(C) 55 (D) 67
30t term of the AP, 10,7, 4, ... is

(A) 75 B) -77
(C) 55 (D) a7

qEieR A 7, 13, 19, ..., 205 5 T&T i GE el & 2

(A) 33 B) 34
(C) 43 (D) 44
How many number of terms are’there in A.P. 7, 13, 19,' .., 2057
(A) 33 _ (B) 34
Ta) A7 (D) 44
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18.

19,

20.

HiG &0 3,5, 7,9, 11, ... T o 9f 98 &0 -

(A)  2n+1 (B)

(C) 2n+2 [15}

2n-1

T T T 9@

The n™ term of the AP, 3,5,7,6, 11, ... will be

(A 2n+1 (B)
(C) 2n+ 2 (D)
o (4,-3) e g w8

(A) 25, _ (B)
(€) 10 (D)

Distance of point (4, - 3 ) from origin is
(A) 25 (B)
(C) 10 (D)
sin” 65° + sin2 25° S O 27

(A) 1 (B)

€ -1 (D)

The value of sin® 65° +sin2 25° is

(A) 1 | (B)

Qe -1 (D)

2n-1

none of these

w

15

w

ar e

-9 ¥ T Ta8T

0

none of these

(L-2)110A [ 600G10-A ]

Page 9 of 44
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faqaﬁ(a,o]'qfr(-5,4]?1%%?{\3@%%3@3-%%%1:5%%%%

A (1,2) ®  (-12)
(C) (0,2) | ) (1,-2)

The co-ordinates of the mid-point of the line segment joining the pointé (3,0)
and (_—5, 4) are | |

(A (1,2) : B  (-1,2)
C (0,2) D) (1,-2)
(s s F e E

wos ® -3

€ 5 (D) -5

The abscissa of the point (-3, 35 ) is

(A) 3 B) -3

(C) 9 ‘ (D) -5

A (2,3) - B) (-2,3)
(C) (-2,-3) | Do) (2,-3)
The co-ordinates of a point in 24 quadrant are

A)  (2,3) | - B (-2.3)

(c . (-2,-3) o) (2,-3)
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ﬁqﬁﬁaﬁ%:’ﬂﬂ?%ﬁamﬁ(-s,oy,(5,-2)3#(-8,5)%?#%@%%%

24,
~ ‘_.g:h:r
(a)  (2,1) B (-21)
e  (2,-1) D) (-2,-1)

If the coordinates of the vertices of a triangle are (-3, 0 ), ( 5, -2 ) and (=8, 5)

then the coordinates of the centroid of the triangle will be

A (2,1) B (-2,1)
< (2,-1) D (-2,-1)
25. IS ABC TF WEET B & feH £C=90° %, @l cos (A+ B)FTAA €
A 0- : B 1
© = o 2

Triangle ABC is a right angled triangle in which ZC = 90°, then the value of

cos(A+ B)is

(A) 0 (B) 1
1 | J3
(C) 5 (D) =T
26. 28 cm =9 9Tc] I I GRIY T & 2
(A) 44 cm (B) 88cm
(C) 78cm (D) 9 | Fis 7
‘What is the circumference of the circle whose diameter is 28 cm ?
(A) 44 cm , (B) 88 cm
(C) 78 cm i m Nane nf theen
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(C)  wEEm

The longest chord of a circle is called

(A) Radius

. (C) Tangent

tanfOxcot® =h[ HIA %

(A) 0
(C) 2
The value of tanBxcotf is
(A) O
(C) 2

[3.11350 ; C(‘,IT_?SO Er‘na-{ ‘%‘
cot55°  tanl2°®

() 0
c 2

tan35° . cot78°

— is equal to
cot55° tanl2

Ay O

c 2

(B)

(D)

B)

(D)

(B)

(D)

{B)

(D)

(B)

(D)

(B)

(D)

2103

Diameier

none of these

-t

1

. "

3AH o i3 A8

1

none of these
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a ==
[+ 2
Vo© —-a”
C) =
":f's.;_ag

-

31. = s'mO:%, Al cot 0 BT

(A) -—%

o &

If sin8=é, then cot 0 is
(A) % |

o £

32. 4 J/3tan20=3, @d 0 T 99 &1

A)  15°
(C) 45°

N 0‘2 . a'.'_’
(B) 7 .
o) 2

a
bg —a?
(B) =
b
(D) .
B) 3
(D) 1
B) 43
(D) 1
(B) 30°
(D) 60°
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33.

34.

33.

If Y3tan20=3, then the value of § will be

(A)  15°

® 30"
(C) . as&° (D) &0°
sec(90°-0)=
(A)  tan® (B]  cosec®
(C) sin® (D) cos®

R 1 A1t g H 00 F FeuEs o aEme B

27RO R30
A ZnhRY &R0
(A) 180 (B)_ 180
€ 2R D) R%8
360 360

The area of a sector of an angle 0° in the circle with radius Ris

27RO ©R20
(A) 180 (B) 180

271 RO zR20
© 355 Pl 360

-

&1 gl o AE T 1 3G 9 ;4 €, SASl GRadl & ST &

(A) 3:2 _ (B) 4:9

{Cy 2:3 (D) 81:16
The areas of two circles are in the ratio 9 : 4. The ratié of their circumfer |
(A) 3:2 (B) 4:9

(Cy '2:8 (D) 81:16
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The diameter of a sphere is 14 cm, then its volume is -

A 3 '
( ) 1428 cm - [B) 4312 CII13

4312 3 -
(C) —3 cm (D)  None of these

39. Wﬁ%ma"rﬁmsm%@mﬁ*ﬁémcm%ﬁmaﬁwm

ST T

(B) 65 mcm?

(A) 60 wem?
(€) 30 mcm® o) FTHE Fig el

and its height is 12 cm, then it

If the radius of the base of a cone is 5 cm

curved surface area 15

(A) 60 zem? (B) 65 xem”

(C) 30 xcm” (D) none of these

40. aﬁﬁ%ﬁﬁaﬂaﬁwwscm%ﬁwﬁqﬁﬁméﬂwm
(a) 150 cm? (B) 125 cm

() 100 cm’ D) T Y S T

If one side of a cube is 5 cm, then its total surface area is

(A) 150 cm? (B) 125 cm?

2
(C) 100 cm (D) none of these
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41.

42.

s
L

eI 20 59T Wiha Sl &1 40 ©

(A} 100 (B) 219
(C) 400 (D) 420
- The sum of first 20 odd natural nﬁmbers is |
(A) 100 B) 210
(C) 400 (D) 420
2,5,7,3,3,6,3,8,6,3 % S FATE ?
A4 6 B) 3
€ 2 (D) 8
What is the mode of 2, 5, 7, 3, 3. 6, 3,8,6,3?
(A 6 (B) 3
c) 2 (D) 8
a B b H THG I §
W F B EE
(C) “;b (D) FH 9 BI5 T8I
The arithmetic mean of @ and bis
W L B 2£L
© 43 b (D)  none of these
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a4, fodll Sriamen awoht @ o s sgew w28 3 16 8, oo g
(A) 22 8 235
© 24 D) 245

The mean and mode of a frequency distribution are 28 and 16 respectively, the

the median is
(A) 22 B) 235
{C) 24 D) 245

45. 2.7.4.9,5, 6,1 T TOGH &

9 =

(A) 6O (B) 5
C) 4 D) R &S R
Median of 2, 7,4,9,5,6, 118

(Al © B) 5

(C) - (D) none of these

46 iqvuﬁﬁf@ﬁﬁam-:ﬁzitmqameﬁ:mfﬂmaﬁﬁm&?

3
(A) 15 B 3

(C) 25% o 03

Which of the following numbers cannot be the probability of an event ?

Ll

(A) -5 (By

o )

TR . . TR .
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47,

48.

49,

(€

RTINS WiHar 2t &

@& 1 B 0

=
O
—
[9)]

The probability of sure event is
A 1 ' ' B) o

€ % (D) 15

T S Tier =1 Tl o 9 om & Rioeie e ot S S9rar mar Rrgss R
9 cm %,Wéﬁ?ﬁmm
(4)  12cm B) 18cm

(C) 36 em (D) 96 cm

A metallic solid sphere of radius 9 cm is melted to form a solid cylinder of

radius 9 cm, then the height of the cylinder is
(A)  12cm _ (B) 18cm

(C) 36 cm (D) 96 cm

TRHl ST WY W SER 0 I THE W OM S et SR 8, Al 94 @l

AT FI0T B -
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S0.

S1.

52.

If the height of a vertical pole is equal to the length of its shadow on the grou
then the angle of elevation of the sun is
(A) ©0° \B) - 30°

(C) - 45° . D) 60"

e o A b FTH FEC §, & o FX b F 7T &

&) a B b
c 1 (D) ab

If @ and b are prime numbers, then HCF of aand bis
Ay a B) b
(C) 1 | (D) ab

e

q< a 3R q'l\—:r:"ﬁ ERANY a=bq+r‘-?‘£?‘1"‘5fq;ﬁ r%‘ﬁﬁ'@‘dﬁﬁ-@‘{i’éﬂgﬁ% ?
(a) 0<rsb B) O<rsb

(C) O<Lr<b (D) r>b B
=r dividend @ and divisor b ina=bqt ~which relation 1s true of remainde
For Givigend “

(A) o<r<b (B) O<r<b

(D) r>b
(C) o<r<b

\ NP S S
ﬁ{ﬂﬁﬂw 22 -6x+7=0 'Eﬁ.‘l:l“ﬁﬂ Tl WA ©

retaE FIT ST | @ EEE TR
(A °
() I
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56.

o7.

Solutions of equations X +y=14andx-Y= 4 are

(A) x=2,y=4 (B) x=9,y=95

@ x=-2,y=-4 (D) x=6,y=-95

qTET AABC T ADEF B '@ ¥ £ AB_BL 7

(A) «£B=ZE @) <A=4£D
(C) «B=<D D) 2A=LF
11 similar AABC and ADEF it is given tht %%=—?_:Q. then

(A) «B=£ZE @) <LA=4D

() «B=£D D) «<A=4F

fagst ABC DEllBCWW?’I?. ts ap = 24 cm, AE 3.2 cm
EC = 4-8 cm, 9 AB T
(A) 3-6 cm (B) 6 cm
(C) 6-4 cm (D) 7-2 cm
=3 - 4.8 cm. Th
In AABC DE| | BC such that AD = 24 cm. AE=32cm and EC cm
AB1s
B b cm
(A) 36 cm (B)
D 7-2 cm
c) o4cH (D) .
o b A W T
td) " g & gied A &l Wi p(E)E, fpiTena
gl
(B) P(E)>}
A) p(E)<0
o) 0sPEIE!

i(_‘] - ]_.gP[If}SI //
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If the probabili

‘following is correct ?
| ®

(a) PE)<O
(D)

© -1sPE)S

co.  sin60°cos30° +cos60°sin30° W &M

B

@ 1 (B

Q 2 o -1

The value of sin60°cos30°+cos60°sin30° 13

W 1 B O

€ 2 - o) -1
60. ﬁ-'g'P(S,e)aﬂ I AL

@ 5T - @ 6%

C 27" ) 13

Distance of point P ( 5, 6 ) from x-axis is

(A) 5 units (B) 6units
(C) 2 units (D) 1 unit
[ 61. U 324636363 ¢
b
(A) S HE 8]
& :
= | .
© Fg EE o) T A R

_
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The number 3-24636363 is

(A)

(C)

(A)

()

a natural number | (B)

an irrational number (D)

' 62. ﬁmﬁiﬁaﬁm-wﬁﬂmwmmﬂiﬁﬁW?

17

105

15
88

Which of the followin

(A)

(€

17

—

105

15

—

88

(B)

(D)

g fractions is expressible as a terminatin

(B)

(D)

63. W& 144 TG 372 1 HoHo AUl

(A)

(C)

The HCF of the n

(A)

(C)

3 2 d
64 AT o, P,y TEW ax +bX roxt

(A)

60

12

60

12

a

-b
a

(B)

(D)

umbers 144 and 372 is

(B)

(D)

(B)

(D)

a rational number

none of these

77

—

1

[ o]

|e>

160

~]
~]

|

| ]
—
o

=

._.
o)}
o

24

g decimal ?

i @

24

none of these

=W [s)

-d
a

Wa?ﬂ ap+Py+ar=

(L-2)110A

page 24 of 44
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65.

66.

Cad B 4 s R e S

bl At s ol L b
1

‘Ifa, B, y are the zeroes of the polyn

omial ax3 +bx? +cx+d, then “B"'BY}uy,.,

[N

w b ®
© =k N

AR TG 202 4 x4+ k 1 0 T 3 7 & A A

(A) 21 B -21

(€ 20 ' ) (D) = g EE el
If 3 is a zero of the polynomial 2x2 + x+k then value of k is
(A) 21 B -21

(€ 20 ' (D)  none of these

?Jﬁ{aw Plx)=4x3 - 5x2 43547 %Wa,ﬁﬁ? yﬁ,?ﬁaﬂy?ﬂqﬁm

A - B)

NEN
Alon

(C)

Al

D -

alw

3

If a, B and y are the zeroes of the polynomial p(x)=4x° —5x2+3x+7, then

value of « By is

_ S
(A) | 2

ENES|

© £ D -3

“—-‘QJIIOA i_ﬁ(__)g_;(}-;\; ape 25 of 44
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67.

68.

69.

(A) AT &

C) Ffgta &1

The systcm of equations 2%

(A) Infinite solutions (B) No solutionl
© A unique solution (D) None of these
#ﬁﬁﬁ$ﬂﬁmﬂmaﬂwuawm¢fﬁ3mﬁwﬁ@ﬁﬁ
(i e g AT
(C) aret T@md o q F2
ei hs will be
If a pair of lincar equations 15 inconsistent: then their grap
allel Lin (B) tersecting lines
(A)  par el lines
he of thes€
(C) coincident lines (D) 1o
siges aee A x-2y=oqﬂ' 3x+ 4y=20ﬂzﬂ%
(A) 4,y=2 (B) x=2,y=4
x = - =
o x=1y"? (D) i @ S T
i 2y= 4y = 20 is
The solution of pair of linear equations X 2y=0 and 3x+ 4Y
~4,y=2 B x=2Y7
none of thesc

(A X7
-—l'y_-:2 (D] ///

e

_ic’]_ﬂj—;'ﬂ_//li
[60010-A | page 26 of 4

a Mm110A

Scanned with CamScanner

!




70. R 65T 117 F HoTo 65 m- 117 % T A, & m T 3

w 1 | B). 2

Q3 D) 4

If HCF of 65 and 117 is in the form of 65 m~ 117 then the value of m is
A 1 . (B) 2

© 3 o4 |
71, ok TR SRR 222 4ax+6=0 H E G 28 A a=?
W 7 ' . B -7

© % D) -

ECTRN |

If one root of the quadratic equation 2x” + ax+6=0 is 2 then a = ?

A 7 B) -7
© I o -1
72. A% FHiEwo x2+2(k+2)x+9k;0 & 1T AT SR SRR &, @k H A am
(A) 171 4 B -17 4
€ 17 -4 (D) -131 -4 |

If the equation x?2 +2(k +2)x+9k=0 has real and equal roots, then the value of
) 0

k will be

A  lora B -1lor4

B b= ’

€ Tor-4 D) -lor-4

(L-2)110A | 60010-A | Page 27 of 44
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73, TR 22— 2xi1=1 o Pl 3 4 2 0 2

74.

75.

@ . 1,-1 B V2,1

€ 01 (D) 0,2

-

" Which of the following are the roots of the equation x?-2x+1=1?

@ 1-1 B 21

€ 01 (D) 0,2

| x2+px;q=0$}@'ﬂﬂﬁ$mqﬁmﬁﬂﬁﬂrﬂﬂﬁﬁﬂ?m ?

2
(A) 0 ® &
- P
© £ D)

= t square ?
Which of the following is the value of g to make x2+px+q=0a perfect sq

P
A 0 (B) 2

e
© 5 D
Frier e 1.8, 2°1,2:4, 27, .. I -3 §
(A) 08 B) 03
€ 02 o) THE % el

: 4 2.7, ...18
The common difference of the A.P. 1:8, 2:1, 2.4, 27 i
(A) 08 (B) 03
@ (D) none of these
(c) O
- ——

(L-2)1 10A [ 60010-A _i page 28 of 44
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ﬁﬁamxwﬂﬁm

76. % 2x+ 3, 5x+ 1, 6x+ 3 WA

B 1
(A) 2
Y qﬁ
© "3 p A
fxis
If 2x+ 3, 5x + 1, 6x + 3 arc in A.P. then the valuc o
(A) 2 B) 1
C) 3 (D)  none of these

7. WHRR S 117, 104, 91,78, ... F 87 W ¢

(A) 25 (B) 26

© 24 | (D) ¥ | FE T

8 term of the A.P. 117, 104, 91, 78, ... is
(A) 25 (B) 26

€ 24 (D)  none of these
78. U Tl FHITR 9@ B Al W (2n+ 1) 3, A 0 9T /T G @7 A0 @
(A) 15 (B) 12
© 21 (D) ¥ | S el
Il nt term of an A.P. is ( 2n+ 1), then the sum of its first three terms is . '

(A) 15 (B) 12

(C) 21 (D) none of these
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79. ﬂﬁﬁﬁaﬁA{—&.S}Qﬁﬂ(vz.S]ﬁﬁﬂﬁaﬁi’@mﬂmw
P(-%.‘%J%t?ﬁ a 1 T &

A -8 |B) 3.

c) -4 D) 4

pl& ints -6,5) and
9 i i ioining the points Al '
- If (2 ' ) is the mid-point of the linc segment joining

B(-2, 3), then the value of a is

(A) -8 B 3

(D) 4

cy -4
4 -15]ﬁ1ﬁMBc$¥ﬂﬁE.ﬁTWW

(4,4).3(5,2)@::(—

go. 1T A
aull
(A (0,-3) ® (0.3)
€ (3.0) (D) ﬁﬁ@a‘ﬂé:ﬁﬂ

4 - 15) are the vertices of a AABC, then its‘

:rA(-1,41.B(5,2landC(—

controid is

0,3)
Ay (0,-3] B

3,0) (D)  noneof these
(cy (3. o

e e <

(L-2)110A [(G0010-A ] rage 30 of 44
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(s.ﬁ)ﬂmﬁmﬁwaﬂm%j

81. -3 fagam A (2, - -3 @B

ST T ¢ 2
+ S
A 2:3 ® 3
‘(C) 1:2 (D) o d A

In what ratio does the 2-axis divide the line segment joining the points A (2, - 3,

and B (5.6 internally ?

A) 2:3 B) 3:5
€ 1:2 (D)  none of thesc
82. WABCﬁi‘@T@’EPQ,BC%W%HW%ﬁAP:& PB = 4 cm,
AQ= 14 cm, OC= 7 cm, @ x T TH &M
(A) 8cm (B) 2cm
(C) 4cm (D) ECL &Ig Tl
In triangle ABC, linc segment PQ is parallel to BC such that AP= x, PB=4 cm,
AQ = 14 cm, QC = 7 cm, then the value of x is
(A) 8cm (B) 2cm
(C) 4cm (D)  none of these
83. T WAEY FEl & SEwE @l 25 : 49 & Tl IRI T AR F :
q
g
(A) 7:5 (B) 5:7
(C) 49:25 ~ 2§ HIE TR

(L-2)110A [560010-A |
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| |

The areas of two similar triangles are in the ratio 25 : 49, Then the ratio of ‘thcir

corresponding medians is
A  7:5 . _ . B 5:7
49 : 25 o @, (D)  nong of these
'84. G BT ABCH a = 4 cm, b=5 cm, 3R c= 3 cni, T £B=?
(4)  60° | (B 90 - o
@ 45° o) AR

and c=3cm, then £B= ?

In triangle ABC, @ =4 cm, b=5 cm,

5 S (D)  None of these
(c) 45° 5
e & el < Al ©
g5, fdt o frg A H @ ST g
. 1 : B) 2
(A) -
o) THAE -
c) I . an-external

How many
int? _

N | B 2

(A) 1 . D) none of these

q*ﬂ'ﬁm’ri'@%wﬁoréﬁcmqé oP =10 cm, @

86.
st Y pr F e € .
W Bem (B) - 10cm
() 12cm @ foe
. L ——
Page 32 of 44 i
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sin® 90 - tan? 45°=

A
(A) 1 I
“ o o 2
Ay 1 ® 2
© 3 o) w A
If0 = 45°, then the value of tan? 0+ cosec?0 is
2
(A) 1 (B) |
(D) none of these
(C) 3
91. sin 30° + cos 60° =
n
B —_—
(a3 ®
o 3
{C) 1
1 HE @
92. 3R scc29(1+5m9](1"3m9]_k K
(3 0 ® 1
(I ® 3
If sec? B(1+si.nﬂul-sin9)=k then the value of Kis
A) O B 1
c) 2 (o) 3
(L-2)11 0OA | 60010-A | page 34 of 44
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B W W 6 om by ¥ 0¥l W 1w A0B W R & 5
éAdB=30',?ﬂﬁqa1qABq.ﬂﬂ'—m§%‘ |
‘A zem ‘ B 2tem
€ 1cm D) 6cm |
The radius of a circle is 6 cm and centre is at O, A sector AOB is such that
<AO0B = 30°, then length of minor arc AB is
(A)  7em B 2% cm
€ lecm D)  6cm
24 T ST WA S G O AR A 24 om g 2
(A)° 27 xem? B) 72xcm?
(€ 22ncm? (D) ¥ ¥ FK T&
What is the area of a semi-circular field whose diameter is 24 cm ?
(A) 27 ncm? (B) 72 cm?
(C) 22ncm? (D)  none of these
95. IR fwel e =i frown amdt @ @ SRl & A gor en wd T en & FEeE H
A 18 B 8:1
c 14 D) 4:1
(L-2)110A gmj Page 35 of 44
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96.

97.

If radius of

a sphere |
sphe 18 reduced to half then the ratio of volumes of original
phere and new sphere is ngin

(A) 1:8

(C) 1:4

(B) 8:1
D) 4:1

¥ 9 i a7 e 10 42 & e e vk S, 9 5 9T
e 2 UFf &, vig 3 amam 7 e € |
(A) 62 B) 101 2

(€ 1872 D) 24 i 2

2 and its slant height is double the

The total surface area of a cont is 18 m
radius of its base, then area of base of cone is

2 (B) 12 m?

(A) 6 m

Hur

Ay’ B x2ey?e 2’

(C) 2xyz (D) xyz

The areas of three adjacent faces of a cuboid are x2, y? and 22 respectively.

Then the volume of the cuboid 1s

v v 9 9 - n .
(A xcyz (B x“+y +2z°

(12} XYz
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98. 2,7,4,9,5,6, 1% qitgw &

A 6 . B 4

© s | ) T & HIE Tl
Median of 2,7, 4,9, 5, 6, 1 is )
(A) 6 B) 4

@ 5 (D)  none of these

99. 5,4,9,8,7.4,2,6,4,7,3 % 9 ¢
A 7 B 5
© 4 D) 9
Mode of 5, 4, 9, 8, 7, 4,2, 6, 4,7, 3 is
a7 - B S
C) 4 D) 9

100, 3T e A WA T A F 52 w6 U TR R &GN Ao Cwen S ¢

ITF Y T I WidHT @ ?

@ | . =
g S D) T Y @G T
€@ 39

From a well-shuffled deck of 52 cards, one card is drawn at random. What is

the probability of getting a queen ?

1 (B) —

W13 26
(C) -;—g (D]  none of these
(L-2)110A _'j)_QO 10-A Page 37 of 44
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g IWRIG U9 / Short Answer Type Guestions

L

T GET 19 305% k] FHIT T 5"'“! s A T el zsﬁémffmmé;

f%fcrgammmm 15x2=30

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 questions. Fach

question carries 2 marks. 15x2=30

1. feurd g7 &1 v s gieor x2+6x+5=0 I &6 e | 2
Using quadratic formula find the solutions of the equation %2 +6x+5=0.

2. o-éﬁrfémﬁ““wf{l 2
Convert 0-6 in the form of g

3. T == 5+J3 T% JGiHT GET 8| 2
Prove that 5++/3 is an irrational number,

4. A% TG (ax?-6x—6) F YIS N [IAEE 45 Al @ F A TG FH 2
If the product of the zeros of the polynomial [ax2~ 6x—-6) is 4, find the value
ol a.

5. GHER x4+ 2y =0 % (o0 WiHd FENAT ® W= = e oa | 2

Find the set of solutions of the equation x + 2y = 9 in natural numbers. .

(L'QJ 110A Page 38 of 44
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T L aatrtec LA

[y

i | e Syt o sl i

10.

11.

| IR e & T 51 0 s eer & 2
4x+py+8=0 'Qa" 2x+2y+2=0 2

For what value of »
ol p following pair of linear equations has a unique soiution ?
4x+PU+8 =0 and 2x + 2y+2 =0.

THITRT T 0 ;
TP 2x43y=7 R 6x-5y=11 T g5 R Fafy § 7T % 2

Solve
ve the system of equations 2x+3y=7 and 6x-5y=11 by cross
multiplication method.

FIT T 1R T freier et 42— 8430 % et %) vy | 2

Without finding roots find the nature of roots of the quadratic equation
4x? -8x+3=0.

gHia} 9l 3, 8, 13, 18, 23, ... T 15 df U5 &7 & ? 2
What is the 15% term of the A.P. 3, 8, 13, 18, 23, ... ?

AABC H, PO | | BC, AP=8 cm, AB=12cm, AQ=3xcm T4 QC=(x+ 2) cm,

H}Tx?n_[m[:'lmit‘:l-l .2

In AABC, PQ | | BC, AP=8cm, AB= 12 cm, AQ=3xcmand QC={x+ 2} cm,
then find the value of x.

X Tl x 0+ ycos 0 HA < = | 2
Hﬁtaﬂﬂ—y: ! sin Y

If tanﬂ-—— then find the value of xsin € + ;i cos 0.
y
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« sin30°+tan45°- cosec60°

12 A FoeATe - scc30°+cos60°+c0t45° ' ;
, BealuatE: si11303+i21145°—cssec§0°
sec30°+cos 60° +cot45°

13, Frdtgm e OR 22cm € T o 3 ST = G e | .
The circumference of a circle is 22 cm, then find the area of a quadrant,

14, g 00, 1 Fgﬁp(s,-a)#ﬁmx,owwﬁfx?mmm
g 4
If point Q (0, 1) is equidistant from the points P (5, - 3) and R ( %, 6), then
firnd the value of x.

15. B ABC &I Y51 BC X D U= fr ¥ WO ¥ § [ £ADC = £BAC. fog @t &
CA%=CExCD. 2
in AABC, D is a point on the side BC cuch that <ADC = £BAC. Prove that
CAZ =CBxCD.

16. T TE =3 A JrImow @R ¥ 10 cmqfrqr%,ﬁwqaw%maﬁﬁﬁﬁ
s em £, A g S 1 W6 B 2
From an external point A which is at a distance of 10 cm from the centre of
circle, length of a tangent o1l +he circle is 8 cm, then find the radius of the circle.

17 Wrﬁmﬁ?ﬂr“ﬁfﬁ‘"?ﬂ_ﬁoﬁ(i.«wm'{(s 5) i "G‘”“‘Iﬁ@ﬁgﬁ
3. 1 o i sfargwa e § @
Find the co-ordinates of the point which divides the ln¢ sc'gmeﬂ‘ joining the

.points (4, -3 ) and {8, 5)in the ratio 3 : 1 internally. _
/
(L-2)110A | 6001 D-AJ Page 40 of 44
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. [4 cm
f . ﬂﬁmvmwwmcmzﬁaw
[
J g
_ The height af 2~ 1 i
.r,f L t}‘;c e —ﬂ“ Qeris 14 cm and itg curved surface ares is 254 om? Then
“rlinder
19. q&-aﬁﬁ;—f&_——fﬂgv2+? . X
STH EXTHIXAD W FS T, A a+p+of FN AW HEEI 2
Ifa and B are zeros of the quadratic polynomial 2x*+7x+3, then find the value
of a+B+cp.
20, Bmmb.ml_];wmﬁl .
Find the sum of first .15 multiples of 8.
51 s g9 o 3 7, 0 THE 3N 4 Tl7 S48 | 9561 € U5 =g S5oa Heel Sl
S o 3 S % T B ) e g 2 o
A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at
random from the box, what is the probability that it will be a white marble ?
49 Scmwmﬁﬁmzﬁraﬁﬁﬁ?ﬁsaﬂ_aﬁmmﬁw QRO AT S S99
g Ao T 2
Two cubes of edge 8 cm are joined end to end to 1'9r:n a cuboid. Find the total
surface area of the resulting cubaid.
oh Waﬁm@ﬁﬁﬁﬂﬂimﬁﬁﬁﬁ%%ﬁr I 2
The 2n¢ term of an A.P. is 13 and its 5% term is 25. Find its 17% term.
| T ma1nA [GOO10-A | Page 41 of 44
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25.

26.

29.

30.

3eTs o T 5w R
- WA & 196 R 38220 F7 HoFo M|

U - - 3 ) - . - o
sing Euclid’s division algorithm, find the HCF of 186 and 38220

N F B (1+tan?0) (1- sine) (

1+Siﬂe)=}“

Prove that (1+tan?0) (1 - sin0) (1+sin0)=1.

T Y =0 AT Y SUEE & Tl (< 1,3), (2, 1) 3R (5, - 1) 96t E

Using the distance formula, show that the points (- 1,3 ), (2, 1) and ( 5, - 1)

are collinear.

FfeEe fomeor =1 mng 7g &) 5
=T ST 0-10 10-20 | 20-30 | 30-40 | 40-50
GIEGIEGT 7 10 15 8 10
Find the mezan of the ollowing distribution : _
inss-intzrval 0-10 10-20 20-30 30-40 | 40-50
Fregusncy 7 10 15 8 10
g w9 405'?'@;J11'm‘ia.-xzfmsﬂﬁa%a?5é?aﬂm%| 2
Find the sum of first 40 positive integers which are divisible by 6.

y % P = % fag B P (1, 4), Q(3, v

For what value of ¥ the

@ & (secA+tanA)

Show that (secA+tan:‘1) (1=

paints P(1,4), 0(3,y)and R(~-

(1-sinA)=cosA.

sinA)=cosA.

T R(-3,16)W@E ?

2

3, 16 ) are collinear g

2

.
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¢ Long 4
NSweyr
question carries 3 mq- : T e uestions, Answer any ¢
ques

31.

34.

_—— A
(L-2)1104

el AL

?!J

fions, Each
.‘-.f\ A

~

4.\‘5:20

syt g,
3y = 9"'[3?{]“@4[?? :
B 3R 5o
Draw the granh oF S

\
:-l. \'.

."7 L) L1 [ o)
, T T Hmmﬁmwm
AR W EA T 3 7 & G :

3 9ig & m,maaiaaﬁralaa”ﬁmm 5

If2

18 added to bhoth numerator and denominatar

of a fraction it becomes
—E—)— and if 3 is added to it S

i1 o0 its numcmtcr and denominator it becomes X Fmd the
fraction.

iiﬁea 9'1_{

for o el Brgs =1 0% 95 & SRR O Yar ST s, o o o e

TS & FE A e ol Sl 6 5

Prove that if a line is drawn parallel to one side of a triangle, the other two sides

are divided in the same ratio.

coscCﬂ _cosecA _5ec? A, 5
g —oaol cosecA -1 cosecA+]
cosecA cosecld _ogec? A,

+
prove that m cosecA+1

Page 43 of 44
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33.

36.

W
~1

38.

US §HGE SRR 7% T S B OET 39 4 5 30 m SRS o 8 St g

STl T W S 60° T T=H 30° & ST & A AR S S 7 H 5

The shadow of a tower s; 1anding on a level ground is found to be 30 m longer
when the sun’s angle of elevation is 30°, than when it was 60°. Find the height

of the tower.

6 cm = = T g =N T % H 10 cm T 0% o ¥ 59 W W@ W@ g

T AT B 5

An

D fra 5 om :
raw a circle of radius 5 cm. Construct a pair of tangents to this circle from a

point 10 cm away from its cenire.

(2,3)7FI 5

Find tne arez of the quadrilateral whose vertices ars (-4,-2),(-3,-5 )
1 =t 3 ? ]

S o W

T = e = =— = -0 A A

R S e ST A =iel 15 I==41/4341 &, 911 ﬁ[‘ﬁ"ﬂﬁ .;OT_-HEF? 3—1{1

(I

e B T Eo T EE0 E mleﬂ'—frgcd 4 1< 30 TFe TR €1 9T S T = T =1

3
The spzsd ol 2 Tozt o sl water is 15 km/hr. Tt goes 30 km downsorezm and
returns Zaow Szsmezt in = total time of 4 hours 30 minutes. Find the speed of
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